
Neigungskupplung CP

Tilting mount CP

Couplage d'inclinaison CP

Montage- und Bedienungsanleitung
Assembly and operating instructions
Notice de montage et d’emploi

6206.350



2 Neigungskupplung CP/Tilting mount CP/Couplage d'inclinaison CP

1.1 Lieferumfang
1.1 Scope of delivery
1.1 Composition de la livraison

1. Gerätebeschreibung
1. Device description
1. Description du couplage d'inclinaison

Best.-Nr. CP
Model No. CP
Référence CP

6206.350

1 x

M8 x 40 4 x

J8,4 4 x

4 x

1 x

Inhaltsverzeichnis
Contents
Sommaire

Seite

1.  Gerätebeschreibung 2

1.1 Lieferumfang 2

2.  Montage 3 – 7

2.1  Montage Neigungskupplung CP –
nach hinten abgehend 3

2.2  Montage Neigungskupplung CP –
nach unten abgehend 4

2.3  Montage der Panels
an der Neigungskupplung CP 5

2.4 Panel neigen 6

2.5  Nachjustierung 
der Reibungsbremse 7

2.6 Kabelführung 7

Page

1. Device description 2

1.1 Scope of delivery 2

2. Assembly 3 – 7

2.1  Assembling the tilting mount CP – 
supported from the rear 3

2.2  Assembling the tilting mount CP – 
supported from below 4

2.3   Mounting the panel on 
the tilting mount CP 5

2.4 Tilting the panel 6

2.5  Adjusting the friction brake 7

2.6 Cable routing 7

Page

1.  Description du couplage
d'inclinaison 2

1.1 Composition de la livraison 2

2. Montage 3 – 7

2.1  Montage du couplage 
d'inclinaison CP – 
départ par l'arrière 3

2.2  Montage du couplage 
d'inclinaison CP – 
départ par le dessous 4

2.3  Montage du coff ret de commande 
au couplage d'inclinaison CP 5

2.4 Inclinaison du coff ret de commande 6

2.5  Ajustage du blocage 7

2.6 Guidage de câbles 7



3Neigungskupplung CP/Tilting mount CP/Couplage d'inclinaison CP

2. Montage
2. Assembly 
2. Montage

2.1 Montage Neigungskupplung CP – nach hinten abgehend
2.1 Assembling the tilting mount CP – supported from the rear
2.1 Montage du couplage d'inclinaison CP – départ par l'arrière

Alternative A

Alternative B

Alternative C

1

1

1

3

3

3

1

3.1

2

3.2

MD = 30 Nm

2

2

2

1
2

4x (M8 x 40)

4x (J8.4)

TX25 SW6



4 Neigungskupplung CP/Tilting mount CP/Couplage d'inclinaison CP

2. Montage
2. Assembly 
2. Montage

2.2 Montage Neigungskupplung CP – nach unten abgehend
2.2 Assembling the tilting mount CP – supported from below
2.2 Montage du couplage d'inclinaison CP – départ par le dessous

1

2

3

4

1

2.2

4.13

2.1

2.3

4.2

6206.5506206.340/6206.360/6501.130

MD = 10 Nm

MD = 30 Nm

4x (M6 x 20)

4x (M8 x 20)

4x J6.4

4x (J8.4)

4x A6.4

6501.130
6206.360
6206.340

6206.550

1

2

SW6,5



5Neigungskupplung CP/Tilting mount CP/Couplage d'inclinaison CP

2. Montage
2. Assembly 
2. Montage

2.3 Montage der Panels an der Neigungskupplung CP
2.3 Mounting the panel on the tilting mount CP
2.3  Montage du coff ret de commande au couplage 

d'inclinaison CP

3

1

7

2

8

5

6

4

62

6250

31 3130

399

399

88

5.
5

5.
5

F

R1

3

5

7.1 8.1

R

F

31 3130

21662

50 62

216

88

5.
5

5.
5

2

4

6

7.2 8.2

MD = 2 Nm MD = 2 Nm

4x 4x

1 1

1 1

2
2

2 2

4x M5
4x M5

7

8

A

B

A

B

ø 5,5/30



6 Neigungskupplung CP/Tilting mount CP/Couplage d'inclinaison CP

2. Montage
2. Assembly 
2. Montage

2.4 Panel neigen
2.4 Tilting the panel
2.4 Inclinaison du coff ret de commande

max. 135°

max. 15 kg

min. 85°

G H

2

1

1

2.1

2.3

2.2

Richtwerte für zulässige Gehäusegewichte 
in Abhängigkeit von der Gehäusehöhe:
Guide values for permissible housing weight, 
as dependent on housing height:
Poids max. possible du coff ret de commande 
en fonction de sa hauteur :

H = 400 H = 600

G max. 25 kg 15 kg



7Neigungskupplung CP/Tilting mount CP/Couplage d'inclinaison CP

2. Montage
2. Assembly 
2. Montage

2. Montage
2. Assembly 
2. Montage

2.5 Nachjustierung der Reibungsbremse
2.5 Adjusting the friction brake
2.5 Ajustage du blocage

2.6 Kabelführung
2.6 Cable routing
2.6 Guidage de câbles

2

3
1

1.1

2

1.2

3

Wenn erforderlich, kann das 
Reibmoment der integrierten 
Reibungsbremsen erhöht 
werden.

If necessary, it is possible to 
increase the friction torque 
of the integrated brake.

Si nécessaire, il est possible 
d'augmenter le couple de 
friction du blocage intégré.

SW8

Ansicht Kabelführung zum Bediengehäuse
View of cable routing to the operating housing
Vue du passage de câbles vers le coff ret de commande

Ansicht Kabelführung zum Tastaturgehäuse
View of cable routing to the keyboard
Vue du passage de câbles vers le coff ret-clavier

MD = 1 Nm

2x (M5 x 12)

F



 ◾ Enclosures

 ◾ Power Distribution

 ◾ Climate Control

 ◾ IT Infrastructure

 ◾ Software & Services

0
7
.2

0
1
8
/0

0
0
0
0
0

/D
-0

0
0
0
-0

0
0
0
1
6
0
2
R

E
V

0
0
 

www.rittal.com/contact

You can fi nd the contact details of all

Rittal companies throughout the world here.

RITTAL GmbH & Co. KG 

Postfach 1662 · D-35726 Herborn

Phone +49(0)2772 505-0 · Fax +49(0)2772 505-2319 

E-mail: info@rittal.de · www.rittal.com




